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Surface Area - In general, the surface area is the sum of all the areas of all the shapes that cover

the surface of the object.

Today we will find surface areas by making a “net” of the 3D shapes, and also by using a formula. We
will only be looking at the surface area of prisms in detail.

Example 1: Find the surface area of this rectangular prism.

Method 1: Use a net and a table
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Method 2: Use the formulaSA =2(IXw+IXh+w X h)
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Example 2: Find the surface area

of this triangular prism.

Method 1: Use a net and a table
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Method 2: Use the formula S4 =
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Example 3: Find the surface area of this cylinder

Method 1: Use a net and a table
Net:
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Method 2: Usethe formulaSA =2 X T X124+ 2XT X1 Xh







